Profits and Loss

I. Profit

A. The most common definition is simply total revenue (P x Q) minus total cost

B. A synonym would be net revenue

II. Wage, Rent, and Interest: Incomes Established in Advance by Contract

A. Put simply, wage represents the payment to labor, rent represents payments to landlords and others who lease their property, such as tools and machinery, and an interest rate represents payment to lenders of financial capital.

B. Wage, rent, and interest represent a price: a price for labor services, a price for rental property, a price for credit.

C. They are earned income.

III. Profit: Income That Can Be Positive or Negative

A. Profit is the fourth form of earned income in a market economy, but it is different than wage, rent, or interest.

B. Profit is the residual, or the difference, between revenues and costs.

C. Profits can be positive or negative!

D. A negative profit is called a loss.

E. Unlike the laborer, who will get paid for his labor services, the entrepreneur seeking profits can never be sure that personal effort will in fact be profitable.

IV. Calculating Profit: What Should Be Included In Costs?

A. Remember that “cost” means the next-best forgone opportunity.

B. Part of the cost of doing business is the owners’ own labor (Dave and Tony example) even if they write no paycheck to themselves.

C. Why?

V. Comparing Economic Profit and Accounting Profit

A. Accountants measure explicit costs—the expenses that are incurred to produce a good or service,

B. However, in the economic way of thinking, the expenses do not capture the total costs of production.

C. Economic profit includes the explicit and implicit costs of production—the value of all scarce resources used in the production process. 

D. Example

Suppose we have a woman named Eva who is an employee at a firm that pays her $30,000 a year. Suppose also that she owns a small building that she rents for $6,000 per year, and she has $23,000 in a certificate of deposit that earns 10 percent ($2,300 per year). 

Now suppose Eva quits her job to become her own boss. She opens up a restaurant and works full-time. She uses her own building and cashes out her $23,000 CD, and also borrows an additional $20,000 (at 10 percent annual interest) for hired labor, equipment, payment for ingredients, etc. for the first year. There are no guarantees that Eva’s restaurant will prosper. She has become an entrepreneur who is willing to take the gamble.

Suppose Eva’s total revenues are $85,000 after one year. What is her profit? Well, that depends on what will be included in the “total costs” of her business operation. 

Her accounting profit would be:

Accounting Profit = TR – TC (all explicit costs)

= $85,000 - $45,000 ($43,000 for hired labor, ingredients, equipment, etc., plus $2,000 for interest on the loan)

= $40,000


But Eva also realizes that:

*Her own labor is not a free good. She used to earn a salary

*Her building is not a free good. She used to earn rent

*Her financial capital is not a free good. She used to earn interest on her CD.

So, her forgone wage, rent, and interest are very real opportunity costs for her. These added together ($38,300) represent Eva’s implicit costs (something that does not show up on her accounting ledger because they don’t show up as monetary expenses).

Therefore, Eva’ s economic profit is:

Economic Profit = TR – TC (all costs, explicit PLUS implicit)



= $85,000 – ($45,000 + $38,300)



= $1,700

The $1,700 economic profit is the return to Eva’s entrepreneurial skills. 

E. The key point is that profit is due to uncertainty. It is the result of predicting the future more accurately than others have predicted it and then acting on that prediction.

F. The Meaning of Zero Economic Profit

1. Where total revenue = total opportunity cost of production. Or when firms earn a “normal rate of return.”

2. Entrepreneurs do earn a positive accounting profit , but at zero economic profit, they make no more than what their money would have earned through the prevailing rate of return on any other investment.

VI. So What Does Making a Profit Prove?

A. First, let’s not be surprised that businesses want to make a profit!

B. Are you evil when you want to make as much as possible in terms of your salary or hourly wage? I think you would answer “No.”

C. So, then why are we supposed to be angry when we hear “Exxon made record profits this year” or “Microsoft’s profit went up 50% over last year making Bill Gates even richer” ?

D. Bottom line: if a company is making a profit (assuming no special government privileges), then they must be doing something right! They must be providing a good or service that consumers want. “But we have to buy their product…” Really? No…you just prefer buying their product than having to deal with substitutes!

E. And after all, when the company makes a profit, let’s not forget, a company is not some nebulous being. It is composed of people! So, when the “company” does well, so do its employees who provide homes, schooling, and food for their families, as well as benefiting investors—again, people—not all of whom are millionaires. Some are just ordinary middle-class Americans.

Costs and the Supply of Goods


I.
Economic Role of Costs



A.
Economic Role of Costs



1.
The demand for a product indicates the intensity of consumer’s desires for an item.



2.
The (opportunity) cost of producing the item indicates the desire of consumers for other goods.



B.
Explicit and Implicit Costs




1.
Costs may explicit or implicit.





a.
Explicit costs result when a monetary payment is made.




b.
Implicit costs involve resources owned by the firm and don’t involve a monetary payment.





(1)
e.g.: Owners time running the firm or the normal rate of return on the owner’s financial investment (opportunity cost of equity capital).



C.
Total Cost




1.
Total Cost = explicit + implicit costs



D.
Accounting and Economic Profit



1.
Economic profit is total revenues minus total costs (including all opportunity costs).



2.
Economic profit requires an above normal rate of return, a rate of return greater than the opportunity cost of capital.




a.
Firms earning zero economic profit are earning exactly the market rate of return.



3.
Accounting profit is total revenue minus expenses of firm over a designated time period.




a.
Often excludes implicit costs such the opportunity cost of equity capital.





b.
Accounting profit is generally greater than economic profit


II.
Short Run and Long Run



A.
Short Run



1.
The short run is a period of time so short that at least one factor of production is fixed.



2.
In the short run, output can only be altered by changing the usage of variable resources, such as labor and raw materials.



B.
Long Run



1.
The long run is a period of time sufficient for the firm to alter all factors of production.




2.
In the long run, firms can enter and exit the industry.




3.
The actual short run and long run differ by industry


III. Output and Costs in the Short Run



A.
Total Fixed Costs



1.
Total Fixed Costs (TFC) are costs that remain unchanged in the short run when output is altered.




a.
Examples: insurance premiums, property taxes, opportunity cost of fixed assets.



B.
Average Fixed Costs

1. Average Fixed Costs (AFC) are fixed costs per unit (i.e., TFC/output).





a.
Decline as output expands.



C.
Variable Costs



1.
Total Variable Costs (TVC) are the sum of costs that rise as output expands.





a.
Examples: cost of labor and raw material.



2.
Average Variable Costs (AVC) are variable costs per unit (i.e., TVC/output).



D.
Total Cost




1.
Total Cost (TC) = Total Fixed Cost + Total Variable Cost.




2.
Average Total Cost (ATC) = Average Fixed Cost + Average Variable Cost.



E.
Marginal Cost



1.
Marginal Cost (MC) is the increase in total cost associated with a one-unit increase in production.


IV.
Output and Costs in the Long Run



A.
Economies of Scale



1.
Economies of Scale: Reductions in per unit costs as output (plant size) expands can occur for three reasons.





a.
Mass production.





b.
Specialization.





c.
Improvements in production as a result of experience.


V.
What Factors Cause the Firm’s Costs to Change?



A.
Cost Curve Shifters




1.
Prices of resources.




2.
Taxes.




3.
Regulations.




4.
Technology.


VI. Economic Way of Thinking About Costs



A.
Sunk Costs



1.
Sunk costs are historical costs associated with past decisions that can’t be changed.




a.
Sunk costs may provide information, but are not relevant to current choices.





(1)
Current choices should be made on current and future costs and benefits.

Intuitive Understanding of Competition and Monopoly
I. Who Qualifies as a Monopolist?

A. Before the advent of cellular phones, local telephone service seemed a good example.

1. But was it accurate?

2. It is true that for any given area, there was typically one seller because of exclusive selling privileges. 

3. However, people could physically move to another area. It is true that this could be very costly, nevertheless, moving is a substitute.

B. Suppose we redefine the commodity sold by telephone companies very broadly and call it “communication services.”

1. If this is the product being sold, then the telephone company was never a monopolist but rather a competitor with Western Union, the post office, loud shouting, fast running, and all other sorts of computer communication techniques.

C. Suppose we define the commodity very narrowly.

1. If telegrams are not the same thing as telephone calls, neither is a gallon of milk at the little store next door the same thing as a gallon of milk three blocks away at Safeway.

D. Therefore, we are forced to conclude that when a commodity is defined narrowly enough, every seller is a monopolist, because no two sellers will ever be offering completely identical products.

E. Other examples

1. Consider McDonald’s. It is a huge fast-food chain, but is it a monopolist—is it the sole seller of a good or service? Yes and no!!
2. On the one hand, you can say no—there are many substitutes for McDonald’s food (Wendy’s, Burger King, Taco Bell, Pizza Hut, etc.)
3. So, if we define McDonald’s products as “fast food,” then there are plenty of substitutes and McDonald’s is not the single seller of fast food.

4. On the other hand, you can argue that McDonald’s is a monopoly if we redefine the good that McDonald’s produces as “Big Mac.” 

5. Since McDonald’s is the only seller allowed to use the term “Big Mac,” then yes it is the sole seller. 

6. What about Hallmark greeting cards? Is it a monopoly? What about Microsoft Windows?

F. What’s the Lesson? It Depends on How You Define the Market.

II. Alternatives, Elasticity, and Market Power

A. What would be bad about a single seller? That would mean consumers would have no alternatives.
B. But there are always some alternatives. There is a substitute for anything, even the services of the local electrical utility

1. After all, nobody really needs electricity; humans got along without it for thousands of years.

C. This is where elasticity comes into play.

1. No seller is a monopolist in the strictest sense of the word because there is no such thing as a perfectly inelastic demand curve.

D. So, market power is seen to be a matter of degree and is inversely related to elasticity of demand.

E. Market power is a better term than monopoly. 

III. Privileges and Restriction

A. Let’s try yet another approach

1. In the early 19th century there was no distinction made in the United States between a monopoly and a corporation.

2. The reason was that corporations had always been created by special governmental acts.

3. Corporate charters were called “grants of monopoly.”

4. Example is The East India Company that had the special privilege of selling tea to the colonies in 1773.

B. Here is another meaning of monopoly.

1. If the state(the government) allows some to engage in an activity but prosecutes others for doing so (think taxi cab medallions), or if it taxes or restricts some sellers but not others, or if it grants protection or assistance to some while compelling others to make their own way unaided, the state is creating exclusive privileges. Now, this is a monopoly!

C. Examples are the United States Postal Service, public utilities, some liquor stores, morticians, the American Medical Association, state bar associations, and labor unions, and licensed barbers and hair stylists.

IV. Competition as a Process

A. For mainstream economists, competition represents a state of affairs. 

B. A competitive market is said to exist when these conditions are present:
1. Large number of buyers and sellers so nobody possesses market power

2. Market participants possess full and complete information of alternatives

3. Sellers produce a homogeneous product

4. There is costless mobility of resources

5. Economic actors are price takers

C. This is known as “perfect” or “pure” competition

D. This results in an optimal allocation of resources and zero economic profits.

E. This model overlooks the dynamic nature of real competition

F. By assumption, the model focuses on the state of affairs that occurs after all this activity has taken place, after all the readjustments have been successfully accomplished (examples of shoppers in line)

V. Price Searching

A. What we will try to discover is that price searchers estimate marginal costs and marginal revenues and try to set prices that will enable them to sell all those units of their product—and only those units—for which MR is expected to be greater than MC. 

B. The Basic Rule for Maximizing Net Revenue

1. Set price that will enable you to sell all those units and only those units for which MR > MC. 

2. MC is simply the additional cost a seller expects to incur as a result of a contemplated action. In this case, the action is selling another ticket.

C. The Concept of Marginal Revenue

1. MR is the additional revenue expected from an action under consideration.

2. So, at what price would NR be maximized?

3. Locate the quantity where MR = MC and then find the price at which exactly that quantity can be sold.

D. Why Marginal Revenue is Less Than Price

1. Because in order to sell additional items, the seller has to lower the price. And when he does so, he lowers the price not only to additional customers he’s trying to capture with the price decrease but also to all those customers who would have purchased the item at the higher price. 

E. What About Those Empty Seats?

1. Waste is a subjective term

2. After all, why don’t the Giants or AMC sell tickets for those empty seats at any positive price?

3. The problem is that they cannot charge the lower price to fill those empty seats to the additional customers without also reducing the price to those who are willing to pay more.

F. The Price Discriminator’s Dilemma

1. It is actually efficient for the Giants and AMC to leave empty seats as long as the cost of discriminating among potential ticket buyers is greater than the additional revenue that can be gained through discrimination.

2. Of course, people will not voluntarily tell you the maximum price they are willing to pay if you ask them!

3. So, they need a low-cost method of distinguishing among potential buyers.

4. They have to be able to charge low prices to those who otherwise won’t buy, without making those low prices available to customers who are willing to purchase tickets at higher prices.
5. Price Discrimination






a.
Price discrimination is when a seller charges different consumers different prices for the same good or service.







b.
Price discrimination can occur when a price searcher can:







(1.)
Identify groups of customers with different price elasticities of demand.








(2.)
Prevent customers from retrading the product.




6.
Sellers may gain from price discrimination charging:





a.
Higher prices to groups with more inelastic demand.





b.
Lower prices to groups with more elastic demand.



7. 
Price discrimination generally leads to more output and more gains from trade than otherwise would occur.

REVIEW:

In price-taker or competitive markets, P = MC = MR. However, in price-searching (monopoly, monopolistic competition, or oligopoly) or imperfectly competitive markets, P > MC. In both cases, profit is maximized at the point where MR = MC, but the criticism of imperfect markets is that the price exceeds the marginal cost and the output is restricted. 

G. Examples of Price Discrimination in the Real World

1. Airline tickets—business traveler v. vacationer

2. Movie tickets

3. Ladies nights at clubs

4. Coupon discounts

5. Lunch v. Dinner Prices

6. Why should a round-trip ticket from NY to Chicago cost more than a similar ticket between NY and Los Angeles when Chicago is so much closer?

VI. Competition and Government Policy

A. Does the government have to make sure competition exists?

B. Is the government promoting competition when it prevents larger, more productive firms from driving other firms out of business?

C. Is charging a "high" price exploitation?
D. Is competition in an industry to be measured by the number of competitors, by the practices in which they engage, or by the behavior of prices, costs, and profits and the industry’s record with respect to innovation?

E. Collusion

1. Cartel: An alliance of firms that act collusively to reduce output and increase price in an industry in order to increase profits.

2. They tend to breakdown however because of the temptation to cheat!

3. In addition, successful collusion by the members of the cartel will attract the attention of outsiders

F. To be successful at collusion, a cartel must solve two problems

1. It must first prevent competition among its own members from dissipating the profits of collusion
2. The cartel must find some way to keep new competitors from spoiling the whole operation by trying to enter the act.

G. So, sellers get very imaginative at justifying legal restrictions into their markets. 

VII. Predatory Pricing

A. Reducing prices below cost in order to drive a rival out of business or prevent new rivals from emerging with the intention of raising prices afterward to recoup all losses.
B. Hard to find examples

C. And even if it exists, so what? Of course, the big company wants to remain “King of the Jungle.” No kidding! Isn’t that what competition is about?!!

VIII. Antitrust Laws

A. Sherman Act

B. Clayton Act

C. The Federal Trade Commission (FTC) and the Antitrust Division of the Justice Department

D. Mergers

1. Horizontal

2. Vertical

3. Conglomerate

E. It is interesting to note that most effective pressures on government policies stem not from consumer but from producer interests.

IX. Bottom Line

A. Competition is a process (video recorder) not a snapshot (camera). 

B. It is dynamic not static

C. The government is not omniscient…really…say this to yourself again!!!
Market Structures

1. Perfect (pure) competition

2. Monopolistic competition

3. Oligopoly

4. Monopoly

